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1. Given the reaction: CsHg(g) + 502(g) — 3COxg) + 4H,0(0) AH=-2220kJ

a. (4 Pts) Determine how much heat was given off if 14.0 moles of CO,(g) was produced.
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b. (4 Pts) Determine how much heat w111 be given off if 52.2 grams of C3;Hg(g) are burned.
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c. (1 Pts) Is the reaction endothermic or exothermic? &£X D‘H’\ ering e

2. (6 Pts) Determine AH for the reaction: C,Ha(g) + Cla(g) — C2H4CK1) Using the equations
given below:

I 4HCl(g) + Ox(g) — 2ClL(g) + 2H0() AH = -202.5 kJ
2 2HCI(g) + CHi(g) + %O0xg) — CHiCl() + HO() AH=-319.6kJ
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3. (6 Pts) Determine the enthalpy change for the reaction below using enthalpy values provided.
CeH12O6(s) + 602(g) — 6COx(g) + 6H,0()

CeH1206(s) AH =-1274.5 kl/mol; O,(g) AH=0kJ/mol; COx(g) AH =-393.5 kJ/mol,
H,O(l) AH =-285.8 kj/mol |
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4. (4 Pts) Water has a density of 1.00 g/mL and a molar mass of 18.02 g/mol. Determine the
concentration of water in moles/L.




